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SECTION - A

i) General Awareness

1. Patanwadi, is a sheep breed known for 6. Which of the following is example/s for

its hosiery wool gquality, is native to chemical change of a substance ?
(A) Maharashtra (A) Rusting of iron

{(B) Assam (B) Ripening of fruits

(C) Kerala (C) Egg into omelette

(D) Gujarat (D) All the above

2. Which of the following disease is not 7. Abook ‘India After Gandhi’ is written by
affected by bacteria ? (A) Bipan Chandra

(A) Anthrax (B) Ramachandra Guha

(B) T.B. (C) Upinder Singh
(C) Rubella (D) Satish Chandra
(D) Cholera

: 8. Meetings of Grama Panchayatand Grama
3. Consider the following and select the Sabha is called or summoned by

right option. (A) District Magistrate

(A) Oncology — study of cancer (B) Grama Panchayat President

e, (B) Dermalology —stlidy SSSki disanses (C) Grama Panchayat Secretary
(C) Both are right (D) Zilla Panchayat President
i (D) Both are wrong
> 9. Which of the following is not a part of
4. Another name for baking soda is solar system ?
(A) Sodium bicarbonate (A) Asteroids
(B) Sodium carbonate (B) Meteors
(C) Sodium sulphate (C) Moon
(D) Sodium hydroxide (D) None of the above
5. Consider the following and select the | 10. Mean difference between the sun and
right option. the earth is
(A) Stomach — hydrochloric acid (A) 1A.U
(B) Ant — formic acid (B) 0.5A.U.
(C) Both are right (C) 0.25A.U.
(D) Both are wrong (D) 0.75 A.U.
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TRl — A
i) |TH AT
1. U, TN I T e S A I | 6. Fmffaa i A Sn-ur T ved ¥ rawtie
?ﬁgﬂﬁm%mmwﬁé. M IR & foTu Ieam 8 7
e | (A) TR TS S
(A) HERTS (B) el ST qaFAT
(B) 1&H (C) 2 = ATeiE S
(C) W& (D) IR Tt
(D) T
7. T S SIS R U g
2. Frafafa # & F-ar I shamy g =10 forelt 71 |
seiTfera =& & ? (A) Tafm =g
(A) T (B) THER TR
(B) (C) 3fe s
(C) weter (D) =ty =z
(D) =i .
8. T USRI ST IH AT S5k
3. Freferfia w few R s wd s g | BT ST 1 AL 2 |
(A) SISt — 3 1 s (A) fenafee

(B) SHIETSIt —car= AT =l 4T
(C) =HiHel &
(D) a7 &

4. eI g E
(A) e aEFERe
(B) Tifemy Mz
(C) Hifea wehe
(D) wifemn TEeEe

5. Fofifes ®faem st sradsm i
(A) AHEE — EESEATHE A
(B) i — wiftles 37t
(C) BHi & g
(D) =M Terd &

10.

(B) UMW UTHEd HE a0
(C) g J=mad afea
(D) ToieT J=mae arege

Feffga g e FR-m O g F1 9m
TR ?

(A) g=s78

(B) IehIlug

(C) =z

(D) IWIF | § FIE T

T4 3R gl & offe are e d
(A) 1A.U.

(B) 0.5A.U.

(C) 0.25A.U. .

(D) 0.75 A.U.
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12.

13.

14.

15.

An island nation Maldives, is located in
(A) Pacific ocean

(B) Atlantic ocean

(C) Southern ocean

(D) Indian ocean

The degree measure of Prime Meridian is
(A) 90°

(B) 180°

(C) 0°

(D) 360°

The standard meridian (IST) of India is
(A) 825 East

(B) 82.5 South

(C) 80.5 East

(D) 80.5 South

World's longest mountain ranges are
found in

(A) Himalayas
(B) Alps

(C) Rock

(D) Andes

Which of the following continent, in
which tropic of cancer, equator and
tropic of capricorn passes through ?

(A) Australia

(B) Asia

(C) Africa

(D) South America

186.

{

18.

9.

20.
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Which of the following is an example for
fold mountains ?

(A) Himalayas
(B) Aravalis

(C) Ural

(D) All the above

Which of the following forest type is
called as monsoon forest 7

(A) Rain forest
(B) Equatorial forest
(C) Deciduous forest

(D) Mountain forest

Which of the following tree is not an
example for thorny type of forest ?

(A) Khair
(B) Keekar
(C) Babool
(D) Red sanders

Which one of the following act is called
Montague — Chelmsford reforms ?

(A) August Offer

(B) 1919 Government of India Act
(C) 1909 Government of India Act
(D) 1935 Government of India Act

In India Wild Life Week is celebrated
every year in the month of

(A) First week of September
(B) First week of October
(C) First week of June

(D) First week of December


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

247

i

12.

13.

14.

15.

WG D R e i A feme |

(A) ST TETETR
(B) STHIRH HEHTH
(C) sfemftwemmm
(D) &< wem@rR

ey Afifem i feft o 2
(A) 90°

(B) 180°

(C) o°

(D) 380°

IR 1 W @9 (313.09.8.) &
(A) 8251

(B) 82.5=fam

(C) 80.57d

(D) 80.5 =fém

[REEEIEECICCIRCTIRe (o

o urg St & |

(A) R

(B) e

(C) U

(D) T

Frforiiaa 3 & fore mardio 3 ok b, yue
T SR TR T et & 7
(A) sreferan

(B) Tf¥w

(C) ki

(D) aféror TRt

186.

17.

18.

is.

20.
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Fafafiag d @ s=-o afaa adqt =1
e R 7

(A) Temmer

(B) HrE=At

(C) Jue

(D) 3udie @i

fFrefafas 4 @ +9-9 =39 CE|
FEAT & ¢ S
(A) =8l ad

(B) Sped i =

(C) Ut 5

(D) wadig 3

F=feraa ga01 0 @ F-a1 wiea a1 &
U IR AL 2 7
(A) B

(B) IRt

(C) e

(D) et =
faferfiaa # @ wH-a1 stfufaan aife-
SIS U HEATT & ?

(A) T T

(B) i W@ w1 AfufEm 1919

(C) Hd iR AffR=m 1909

(D) ¥Wd Gt Tfirfam 1935

TG 1 521 Sf T HedTe e o

< T8 T W ST R |

(A) Toder =1 wom Tware

(B) I 1 IUH HATE

(C) S I 9UH T

(D) TeHs &1 99q TTE
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ii) General Intelligence and Reasoning Ability

Complete the analogy.

2.64 .4,
e
16
A 29

27
B) 3z
(G o2
49
125
) ez
() 64

Find the missing number in the square.

7 |5]|36
9 |1]|25
1214 |7

(A) 64
(B) 16
C) 8
(D) 4

Pick the odd one out among the pairs
(12, 36), (30, 225), (18, 81), (40, 324).

(A) (12, 36)
(B) (40, 324)
(C) (18, 81)
(D) (30, 225)

Suplaaloglad

In the above cube, which number is

on the face opposite to 2 7
(A) 5
(B) 4
(C) 1
(D) 3

25. Choose the right option for » in the order
for the equation (8 = 7) = 5 + (78 « B) = 65.

(A) x——+
(B) +xx+
(C) —xx=

(D) None of these

26. My friend was born on 4" December.
| am younger to him by 20 days. This
year the children’s day is on Thursday,
on which day my birthday falls 7

(A) Saturday
(B) Friday
(C) Monday

(D) Sunday
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ii) AT gfgear aen arfdhes g
21, THEYAT i HifS | o
s, . (7 (639 639 672
6 49
. I T 1, ShiA - e 2 % ot g ?
(A) a9 (A) 5
27
® o Ll
C)
©) 64 (C)
49 {D} 3
125
(D) =
25. (8+7)+5+(78+6)=65%0 GHIFO § « o
22, o H e W yia e | ae! faskey i |
7 [5]36 Bl o=+ =
9 125 B
12 a2 (B) +xx+
(A) 64 (C) —xx=+
(B) 16 (D) 379 9 g el
(C) 8
(D) 4 26. M fig &1 579 4 fgeR i gon | & 6@
20 37 Sl € | 38 o arat feaw geeafoan
23. el # & weuy fum wifeu | # g, s ARt
(12, 36), (30, 225), (18, 81), (40, 324)
(A) wIFER
(A) (12, 36)
(B) (40, 324) (B} e
(C) (18, 81) (C) Hmam
(D) (30, 225) (D) EEm
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28.

29.

P is taller than Q but shorter than R,
S is shorter than R but taller than P and
T is shorter than R. Who is the tallest
of all ?

(A) P
(B) Q
(C) S
(D) R

Complete the analogy in the following
figures.

:DD::O: 2

(A)

(B)

(C)

(D) (IO

2
oo

A monkey ate 100 bananas in 5 days,
each day eating 6 more than the
previous day. How many did it eat on
the last day ?

(A) 23
(B) 26
(C) 35
(D) 32

30.

31.

32.

33.
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Rajesh is the brother of Anil. Sonia is the
sister of Sunil. Anil is the son of Sonia.
How is Rajesh related to Sonia ?

(A) Brother
(B) Son

(C) Nephew
(D) Father

If RAJESH is coded as SBKFTI, then
how is URMILA coded ?

(A) TQLHKZ
(B) VSNHMB
(C) BMJNSV
(D) None of these

If FRUIT is coded as 58281, then how
is GRAPES coded ?

(A) 718116519
(B) 791751
(C) 680649
(D) 680640

How many rectangles are there in the
figure ?

(A) 6
(B) 9
(C) 10
(D) 8
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27. P,QUENEWg RS2 | S, R | 30. TS 3ifet o wrg 2 | Wil gfiet ol e
BAEWPATNRART, RADAR | g | e A w9 8 | e wifEn |
IR AT HA R ? o wrehm eI & 7
" P (8) s
(B) s
L (C) Sefts
(C) S (D) T
(D) R
31. afk RAJESH #1%2 SBKFTI 2, a1
AR T pe—— VR e
(A) TQLHKZ
o o [ O 9 (B) VSNHMB
(C) BMJNSV
D g
il (D) ¥ @ g Tl
32. AR FRUIT# % 58281 24!, GRAPES
® | /\ Mt !
(A) 718116519
© |00 (B) 791751
(C) 680649
o) a0 (D) 680640

29. wHER 5 & 100 et @, wew e | 88, o H o sE | 7
I fieet f69 9 6 et atfees @ | 399

3tfaw e foe et @ 7 |
(A) 23
(B) 26 (0
(B) 9
(€) 35 (©) 10
(D) 32 (D) 8
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34.

35.

36.

37.

Identity by interehanging which 2 signs
(operations) the equation

27 +9 + 6 x 2 -5 =10 can be made
valid.

(A)
(B)
(C)
(D)

+and —
= and +
—-and =

+ and =

The zoo had some lions and some parrots.
The keeper counted 15 heads and 50 legs.
The number of lions there is

(A) 9

(B) 10

(C) 5

(D) 1

Select the word which different from the
other three in the group.

{Rose, Lotus, Tulip, Hibiscus}

(A) Rose

(B) Hibiscus

(C) Lotus

(D) Tulip

Find the missing number in the sequence

LA

1296' '36'6

® o5

1

360
1

216
Mone of these

(B)

(C)
(D)

38.

39.

40.

GET IT ON
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A man travels 3 kms towards East, thén
2 kms towards MNorth and again 2 kms
East and finally 14 kms towards South.
What is his nearest distance from the
starting point ?

(A) 12 kms
(B) 13 kms
(C) 15 kms

(D) 9kms

Find the right option for x, given,

Car : Garrage : : Aeroplane : x
(A) Port

(B) Depot

(C) Hangar

(D) Harbour

Which number replaces the question
mark ?

11 10 11

WANATE LY
(A) 5
(B) 4
(C) 6
(D) 3
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27 +9+6x2-5=10% 2 gt =t sy
o e 8 99 =9 T4 |

(A) + 3 —

© (B) =3R4

35.

36.

37.

(C) -3«
(D) + 3 x

fafgamr # %o i 2 s o a7 € |
e 3 15 o 3fie 50 21 i | i <
T R
(A) 9
(B) 10
(C) 5
(D) 1

IR I T TR S = A R |

(A) T
(B) Ts=
(C) e

(D) ZEfem

LG 0

1206° '36' 6

et o T S 9
& |
3

996
1

360
=
216

(D) 378 & =g 7

(A)
(B)

(C)

-11-
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38. U faT T il 37N 3 et wrera 2, f I
1 3R 2 fort wreve @ ofR g 2 fordt o
1 3T Tera & IR 3iad: 14 Gl o
HR =T 8 | STfoes foig & 3weh fepean
game?
(A) 12 Tl
(B) 13 ferrft
(C) 15 femfi
(D) 9 et
39. x = fore Tl faseq gfm |
w:ﬂtﬁ::ﬂ'ﬂ'@%’[ﬁ:x
(A) T
(B) fem
(C) &m
(D) &mR

40. HH-dt T 99 g = genft ?

7 6' 5 B'g/\?

(A) 5

(B) 4
(C) 6
(D) 3
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43.

44.

45.
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iii) Arithmetieal and Numerical Ability

In a class of 30 students, 15 students
have taken computer science, 10
students have taken computer science
but not electronics, find the number of
students who have taken electronics but
not computer science.

Note : For students in the class of 30,
either computer science or electronics
is compulsory.

(A) 15
(C) 25

(B) 20
(D) None of these

If P(n) : 2.4en+1 4 330 +1 ig divisible by
2. for all n € N then the value of 3. is

(A) 11 (BY &

(C) 7 (D) None of these

A carpenter was hired to build
192 window frames. The first day he
made 5 frames and each day thereafter
he made 2 more frames than he made
the day before. How many days did it
take him to finish the job ?

(A) 10 days (B) 12 days
(C) 15 days (D) None of these

Find the greatest number that divides
132 and 77 leaving the remainder 2 in
each case.

(A) 50
(e

(B) 55
(D) None of these

LCM and HCF of 2 numbers are
respectively 432 and 72. If one number
is 144, find the other.

(A) 16 (B) 108
(C) 216 (D) 12

-12-

48.

47.

48.

49,

50.

Find the least integer which when divided
by 6, 10, 15, 30 leaves the remainder 2.

(A) 32 (B) 60

(C) 90 (D) 2
n n-1

Value of =k is
2n+‘|_2n

3
(B) 3

(D) None of these

(A) 1
B
(C) 5

If e, [ are the roots of the equation
ax? + bx + ¢ = 0, find the value of

o P
i
3abe - b? 3abc —b3
W —>%— ® %
ac
3abc - b
(C) T (D) None of these

A number which when decreased by 20
is equal to 69 times the reciprocal of the
number. Find the number.

(A) 32
(B) 21
(C) 23
(D) None of these

The present ages of two brothers are in
the ratio 3 : 4. Four years ago their ages
were in the ratio 2 : 3. Find their present
ages.

(A) 3yr., 4yr.

(B) 12 yr., 16 yr.
(C) 9Qyr., 12yr.
(D) None of these
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iil) STeITUTe U ST Sraan

30 ferenfeiai i uer e H, 15 ferenfofai 3
F fagm fern, 10 3 S fagm formn
Tiq goiaeia el | 3 fanfeia < gen
T R e someii-a formm Ty St
T =l | (e : 30 faenfiiai < en
grq,mﬁw&ﬂmmséa@waﬁmﬁ
1)
(A) 15

(C) 25

(B) 20
(D) T & =g A

IR P(n) : 2,420+ 1 4 33+ 1 mff ne N
% foru ), g ?, Ao R

(A) 11 B) 5
©) 7 (D) 378 T 1 A&

U g3 &1 192 Ragfaai & 2= sam &
feru wan e 2 | wEe for sER 5 giE A
R T SR T2 3EA Sues wE e e

T 2 g ifers smm | 38 5 T = g
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A sum was put at simple interest at a
certain rate for 4 years. Had it been put
at 2% higher rate, it would have fetched
T 56 more. Find the sum.

(A) %700 (B) 1,000
(C) 5,000 (D) % 7,000

The average weight of a group of
35 people is 47.5 kg. If 36" person is
added to the group, the average weight
increased by % kg. What is the weight
of the 36" person ?

(A) 80 kg (B) 62.5kg
(C) 63.5kg (D) 65.5kg

The average age of A and B is 18 years,
BandCis 17 years, C and A is 20 years.
What is the age of B ?

(A) 55yrs (B) 25yrs
(C) 20yrs (D) 15yrs

Karthik received a scholarship of
¥5,000in2017 and % 8,000in 2018. Find
the percentage increase.

(A) 50%
(B) 30%
(C) 60%
(D) None of these

Ritu’s salary was increased by 10% and
then again by 5%. If the present salary
is T 9,240. What was Ritu's previous
salary ?

(A) T8,034.8

(B) 8,000

(C) 28,100

(D) None of these

56.

57.

58.

59.

60.
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Abhinav saves T 75 by getting a discount
of 15% on a text book. How much did he
pay for the book ?

(A) T 500
(C) T 450

(B) %525
(D) T425

A and B can do a piece of work in
12days,BandCin15daysandCandAin
20 days. In how many days will A alone
take to complete the work ?

(A) 60 days (B) 20 days

(C) 30days (D) None of these

A and B are walking at each other at
4 kmph and 5.5 kmph speeds respectively.
If the distance between them is 28.5 km,
find out when will they meet.

(A) 3 hours (B) 2.5 hours

(C) 4 hours (D) None of these

Two taps can separately fill a tank in
12 and 15 minutes respectively. The tank,
when full, can be emptied by a drain pipe
in 20 minutes. When the tank was empty,
all the 3 were opened simultaneously.
In what time will the tank be filled up ?
(A) 15 mins (B) 10 mins

(C) 12 mins (D) None of these

In a bag there are coins of 1 Re.,
50 paise, 25 paise in the ratio 212 : 3 : 4.
If the total money in the bag is ¥ 80, find
the number of coins of each kind.

(A) 25,50, 120
(B) 40, 50, 60
(C) 50,20, 40
(D) 40, 48, 64
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iv) Hindi Language and Comprehension
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v) English Language and Comprehension [ ]
U AT SR A B B
Fill in the blanks with appropriate prepositions: | 86. Mr. Chawla is a man of parts and
, _ calibre. o '
We had a long discussion the A
problem. (A) Kind and charitable person
(A) of (B) for (B) Of superior ability '
(C) over (D) about (C) Friend in prosperity only
A teacher must have control (D) Perseverance
his class.
(A) over (B) with Change the following sentences into indirect
(C) on (D) in speech.

Change the voices of these sentences.

83.

84.

Who did this mischief ?

(A) By whom was this mischief done ?
(B) Who was this mischief done by ?
(C) Was this mischief done by you ?
(D) By whom is this mischief done ?

Do not shout at them.

(A) Stop shouting at them

(B) Let them not be shouted upon
(C) Let they not be shouted upon

(D) You are commanded not to shout
at them

Choose the correct meaning of the underlined
idiom from the given options.

85.

All the directors of this firm are above
board.

(A) Honest and frank

(B) To be punished

(C) Obliging each other mutually

(D) Short of money

87. My mother said, “Earth is the only planet
where life exists”.

(A) My mother told that earth is the only
planet where life exists

(B) 1was told by my mother that earth
was the only planet where life
exists

(C) My mother said that earth is the
only planet where life exists

(D) Earth is the only planet where life
exists said my mother

88. | said, “She has been working in this
office since 2000".

(A) | said that she was working in that
office since 2000

(B) |told that she has been working in
this office since 2000

(C) | told that she has worked in that
office since 2000

(D) |said that she had been working in
that office since 2000
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Fill in the blanks with the appropriate
articles.

89. Heis Newton of our day.
(A) a (B) an
(C) the (D) not needed
90. Mangoes are sold by kilo,
eggs by dozen.
(A) the, a (B) a, an
(C) an, the (D) the, the

Select the suitable tenses of the given
sentences.

91. | had been waiting for-you for two hours
when you came.

(A) Past perfect tense

(B) Past perfect continuous tense
(C) Past continuous tense

(D) Past tense

92. We shall have been playing for three
hours when you get there.

(A) Future perfect continuous tense
(B) Future perfect tense

(C) Future continuous tense

(D) Future tense

. Select the appropriate figure of speech.

93. The child is the father of the man.
(A) Oxymoron
(C) Antithesis

(B) Epigram
(D) Hyperbole

94. The camel is the ship of the desert.
(A) Pun (B) Personification
(C) Apostrophe (D) Metaphor
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Which part of speech do the underlined words
show ?
95. She brought me round to her views.
(A) Verb (B) Adverb
(C) Noun (D) Prepositions

96. My house is right down this street.
(A) Adverb
(C) Preposition

(B) Conjunction
(D) Adjective

Identify the appropriate type of sentences.

97. When the boy saw the wolf, he ran

away.
(A) simple (B} compound
(C) complex (D) negative

98. | arrived and the big dog started
barking.
(A) positive (B) complex
(C) simple (D) compound

Select the correct clause for the given
sentences. ’

99. The man whose house was burned
down left the village.

(A) Noun clause
(B} Relative clause
(C) Adverb clause
(D) Adijective clause

100. This is the place where the accident

happened.

(A) Adjective clause
(B) Adverb clause

(C) Noun clause

(D) None of the above

* -19-
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SECTION-B
Post Specific Subject-Related Questions
101. Accordingto___ newbornsinteract | 105. Imaginative plays are given preference

with their environment entirely through

over other plays. This is an example of
reflexive behaviors.

(A) Bandura (A) Emotional development
(B) Erickson (B) Intellectual development
(C) Piaget (C) Social development

(D) Woodworth (D) None of the above

102. The direction of development is from
head to limbs that is in longitudinal axis

106. According to
is called

environment is anything immediately

() Cephalo-caudal surrounding an object and exerting a

(B) Proximodistal direct influence on it.

(C) Caudo-cephalic ‘
(A) Gillbert
(D) Distoproximal
(B) Douglas
103. The child begins to form concepts of

physical and social reality. This is one (C) Anastaxi

of the characteristics of (D) Holland

(A) Physical development

(B) Intellectual development 107. Studies carried out on twins concluded

(C) Emotional development that heredity is an important factor

(D) Social development in causing individual difference. The

104. Children cannot sit for one activity for psychologist involved in this was
morethan _ minutes. (A} Bennet
(A) 2-5 ‘ o
(B) David Winfield
(B) 5-10
(C) 10-15 (C) James Reace
(D) 15-20 (D) Mac lver
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108. ltis a state of mind which reflects likes | 111. A close relationship between the growth
and dislikes of the learner of thinking and the development of
mathematical concepts is established in
(A) Aptitude (&) Theory
(B) Attitude (B) Intervention
(C) Motivation (C) Research

(D) Intelligence (D) Demonstration

112. Etymologically, the term education is

109. Activities and experiences related derived from the latin roots under which
of the following ?

(A) Educare
(B) Educere
(C) Educatum
(D) All of the above

to Family theme will encourage
among children.

(A) Self awareness
(B) Understanding

(C) Communication 113. is a process of education

(D) Socialisation which is organised in a precise way
curriculum bound and examination

oriented.

: teacheris an of the socie :
Tidg fahsicacy Y (A) Informal education
responsible to bring desirable changes

: : (B) Non-formal education
in behaviour of children so that they

may shoulder the responsibilities of a 150 FEorma) ocligaes
good citizen to accelerate the process (D) Distance education

of national development. 114. The idea of bi-polar process of education

(A) Educator was developed by
(A) Sir John Dewey

B) Agent
(B) 89 (B) Sir John Adam

(C) Facilitator (C) Sirlsaac Newton

(D) Motivator (D) Sir Richard Branson

* 29.
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116.

117.

118.

The ftripolar process of education was
propagated by

(A)
(B)
(C)
(B)

Charlotte Mason
Freidrich Froebel
John Dewey

Maria Montessori

education is life oriented.
(A) Formal
(B)
(C)

(D)

MNon-formal
Informal

All of the above

The author of the book “True Education” is
(A) Dr. A.P.J. Abdul Kalam

(B) Mahatma Gandhi

(C) Rabindranath Tagore

(D) Swami Vivekananda

is considered as the figure
in the introduction of indian philosophies
of Vedanta and Yoga to the western
world.

(A) Jijubhai Badheka
(B) Sri Aurobindo Ghose
(C) Swami Vivekananda

(D) Dr. Daulat Singh Kothari

119.

120.

121.

122.
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In the

education was/is absolutely informal.

days the process of

(A) Primitive
(B) Modern
(C) Both (A) and (B)

(D) None of the above

Whose highest aim of life was the
attainment of material success ?

(A) Indians
(B) Romans
(C) Athenians

(D) Americans

The originator of the Kinder garten
system is

(A) Maria Montessori
(B) Friedrich Frobel
(C) John Dewey

(D) Heirich Pestalozzi

The
of the concept of pragmatism.

(A) 17t
(B) 18t
(C) 19t
(D) 20t

century saw the emergence
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115. e <t Breefm wftean ____ g | 119, &1, fan & sl wig
LRI ST Bt |
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(D) . drea s Ferd (D) 207t


https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

i

123.

124.

125.

126.

No nation can progress in the absence of
(A) Social progress

(B) Political progress

(C) Economic progress

(D) Technological progress

is an important trend that
affects the world deeply in the new
millennium.

(A) Industrialisation
(B) Globalisation
(C) Urbanisation

(D) Colonisation

Identify the method of learning that is
related to real-life activities undertaken
to solve an emerging or a felt problem
in a natural setting.

(A) Assignment
(B) Group discussion
(C) Assessment

(D) Project

TBLT stands for

(A) Training Based Language Teaching
(B) Time Based Language Teaching
(C) Task Based Language Teaching
(D) Term Based Language Teaching

127.

128.

129.

130.
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A sequence of charts bound tuget_r'_j'ar
by a ring, hook or a bracket is_‘ called
(A) Flannel board .
(B) Flip chart
(C) Posters
(D) Graphs

A child is able to develop a language that
matches the correctness and principles
of the appropriate words and grammar

of a given language at years.
(A) 4 (B) 5
C) 6 (D) 7
The work of has made

a significant contribution to our
understanding of the development of
measurement concepts in the child.

(A) Erickson

(B) Bandura

(C) Piaget

(D) G. N. Holmbeck

A third of the 5000 languages spoken
around the world is found in which
country ?

(A) Africa
(B) China
(C) India
(D) Australia
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132.

133.

134.

From birth, every child should have | 135.

access to high quality learning
opportunities for language, literacy
and

(A) Science

(B) Social science
(C) Mathematics
(D) All the above

Aninfant's brain is very impressionable
and it is much easier to learn some
skills, including during the early
years.

(A) Literacy
(B) Writing
(C) Language
(D) Learning

The process of literacy starts at
(A} Birth

(B) One year

(C) Two years

(D) Three years

Experts have found that in order to read
and write successfully , children need
to master
years.

(A) Reading

(B) Language
(C) Code related
(D) (B)and (C)

136.

137.

skills in the early | 138,
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¥
Successful literacy learning depends

on a wider set of cognitive and social,
emotional skills that include

(A) Attention

(B) Working memory
(C) Self control

(D) All of the above

Drawing, scribbling and pretend writing are
an important foundation for learning to

(A) Read
(B) Write
(C) Spell
(D) All of the above

Constructivism approach permits a
child to formulate its own knowledge
through observations, experiences
and experimentation. It is called a/an
approach to learning.

(A) affective
(B) cognitive
(C) effective
(D) skillful

is a receptive skill for the children
at the primary or elementary stage.

(A) Observation
(B) Listening
(C) Speaking
(D) Attending
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139. reactions are expressed through | 143. What is meant by a Cumulo ?
“look, listen and perform”.

(A) Non-verbal
(B) Verbal
(C) Both (A) and (B)

(D) None of the above

(A) Bed time story

(B) Fairy tale

(C) Repetitive story
(D) None of the above

144. Types of writing such as copying letters,
words and sentences are done at

140. In listening and speaking exercises,

is important for the meaning el
of speech, (A) Kinder garten
(A) Words (B) Primary
(B) Apprehension (C) Secondary
(C) Intonation (D) Higher primary

(D) Fluency .
145. Being able to understand two languages
but to express oneself through one
messages without using words. (RY R MBI
(4) Role gy (B) Successive bilingualism
(B) Street play
(C) Mime

(D) All the above

(C) Receptive bilingualism

(D) Simultaneous bilingualism

146. One of the statements given below is

142. The two varieties of rhymes are end true regarding ‘gender’.
rhymes and (A) ltis biologically determined.
(A) Nursery rhymes (B) Itis a numerical concept.
(B) Internal rhymes (C) It is the same as the sex of the
(C) Action rhymes person.
(D) External rhymes (D) Itis a social construct.
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147. “Sexual Harassment” does not include | 151. A quality or an ability that one is born

one of the following acts or behaviour

with is called
(whether directly or by implication).

(A) Physical contact or advances Ee g tigehes

(B) A demand or request for sexual (B) Endowment

favours (C) Aptitude

(C) Using bad language (D) Intuition

(D) Showing pornography

148. The Right to Equality to Women is 152. In India the gurukula schooling system

ensured by was started during period.
(A) Article 14 (A) Medieval

(B) Article 15 (B) Vedic

(CY Allicie 10 (C) Classical

(D) Article 39

(D) Pre-historical

149. The Sexual Harassment of Women at
Workplace (Prevention, Prohibitionand | 153. The concept of gender roles has been
Redressal) Act that seeks to protect

developed from the work of
women from sexual harassment at their

place of work was passed in the year (A) Simon Baron

(A) 2010 (B) Eve Shapiro

(B) 2011 (C) Caroline Moser

(C) 2012 (D) Sandra Lipsitz Bem

(D) 2013

154. ' h ded

150. The term gender role was first coined _ ° 1muc more cpfen IREN

by in 1955. and all inclusive than schooling.

(A) Judith Butler (A) Learning

(B) John Money (B) Reading

(C) Sarah Ahmed (C) Education

(D) Nancy Fraser

(D) Training

* -32-
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(C) Exhibitions
(D) All of the above

is based on interactional
theory of language learning.

(A)

Competency based language
learning

Communicative language
learning

(B)

(C)
(D)

Co-operative language learning

Cognitive language learning

Which of the following factors can influence
child's growth and development ?

(A) Heredity

(B) Intelligence
(C) Social nature
(D) All of the above

Practice of selective elimination of
the female foetus after prenatal sex
determination or sex pre-selection is
called

(A) Female infanticide
(B) Female foeticide

(C) (A)and (B)

(D) None of the above

160.

161.

162

163.
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Which of the following does not come
under the cognitive domain ?

(A) Knowledge

(B) Evaluation

(C) Undersfanding

(D) Characterizing

__________is the ability to grasp the
meaning of the materials where the child

is able to express the learnt material by
his own sentences.

(A) Application

(B) Understanding

(C) Analysis

(D) Synthesis

Identify the most effective method to
teach an occupation skill.

(A) Group discussion method

(B) Didactic method

(C) Demonstration method

(D) Analytical method

Identify the teaching method that is
considered traditional.

(A) Group discussion

(B) Chalk and talk

(C) Non-formal lecture

(D) Demonstration method
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One of the statement given below is not
related to non-formal education.

(A) ltis learner oriented

(B) It is examination oriented
(C) Itis life oriented

(D) Itis need oriented

How many children a teacher can
include for small group teaching to
enable discussions ?

(A) 4-6
(B) 7-9
(C) 10-12
(D) 13-15

The ability to use learnt material in a
new situation by the child making use
of his previous knowledge to solve the
problem is called

(A) Analysis

(B) Synthesis
(C) Application
(D) Knowledge

The most important step of teaching
learning system which includes
chserving, testing and assessing is
calied

(A) Leading
(B) Evaluating
(C) Planning
(D) Organising

GET IT ON
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168. The education that is seen as a tedious
and complex process is

(A) Indoor-based

(B) Group discussions
(C) (A)and (B)

(D) Outdoor-based

169. The organization of learning resources
by the teacher help her/him to achieve
the objectives successfully. Identify
the statement that is not related to
organising the learning resource.

(A) Generating learning environment
(B) Implementing teaching activities
(C) Organising of learning resources

(D) Formulation of learning objectives

170. One of the following is not a guiding
principle recommended by The National
Curriculum Framework 2005 for
curriculum development.

(A) Connecting knowledge to life
outside school

(B) Ensuring that learning is shifted
away from rote methods

(C) Enriching the curriculum to
provide for overall development of
children

(D) Making examination less flexible
and integrated into classroom life
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One of the following statement is true
regarding informal education

(A) It has a fixed aim
(B) Involves an organized institution
(C) It has a fixed method of teaching

(D) It provides unconscious learning

A process in which knowledge, character
and behaviour of the children are
shaped and moulded is called

(A) Education
(B) Training
(C) Learning

(D) Development

For children in the age group of 2-8 years
old, the pattern of development include
motor, social, emotional, cognitive and

(A) Adaptability skills
(B) Communication skills
(C) Language skills

(D) Writing skills

“The widest road leading to the solution
of all our problems is education.” — This
quote on concept of education is by

(A) Vivekananda
(B) Aristotle
(C) Gandhi
(D) Tagore

175.

176.

177.

178.
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The developmental objectwes in

the curriculum framework fc:-r early
childhood development is towards

(A) Physical development
(B) Cognitive development
(C) Social development
(D) All the above

The teaching of
ethical values in the learners.

develops

(A) Sociology
(B) History
(C) Civics

(D) Economics

is a change measurable in
terms of height and size.

(A) Growth

(B) Maturation

(C) Development
(D) All of the above

The process of learning should be as far
as possible a pleasurable one and not
laborious. These were the words of

(A) Mahatma Gandhi

(B) Rabindranath Tagore
(C) Sir Aurobindo

(D) Dr. A. P. J. Abdul Kalam
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179. The main tool for child and teacher to

employ in the mastery of mathematics
concepts is

(A) Skills

(B) Attitude

(C) Language
(D) Analysis

180. Identify the factor that does not influence

student difficulty in learning.
(A) Intellectual factor

(B) Social factor

(C) Economic factor

(D) MNone of the above

181. Pre-number concepts can be developed

in children before attaining
years of age.

(A) 5
(B) 6
(C) 7
(D) 8

182. The child becomes able to differentiate

between similar shapes such as
squares, rectangles and rhombus
correctly between

(A) B6-7 years
(B) 7-8 years
(C) 8-9years
(D) 9-10years

183.

184,

185.

186.
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is regarded as a powerful tool
for interpreting the world and therefore
should be rooted in real experience
across the whole curriculum.

(A) Mathematics
(B) Science
(C) English
(D) Geography

The first step/steps for learning a
language is/are

(A) Listening

(B) Speaking

(C) (A) and (B)

(D) None of the above

In order to use drama as a linguistic
activity the two characteristics that need
to be included are

(A) Motivation and skill
(B) Freedom and enjoyment
(C) Freedom and attitude

(D) Motivation and enjoyment

The two elements involved in language
proficiency are

(A) Fluency and accuracy
(B) Vocabulary and clarity
(C) (A)and (B)

(D) Writing and reading
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(A) 5
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(A) 6-799
(B) 7-8ad
(C) 8-93d
(D) 9-109Y
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187. ____ emphasises learning through | 190. One of the following is not a merit of the
teamwork. bilingual method

A) It gives emphasis on speech
(A) Continuous learning (A) g ) P P
practice

(B) Cooperative learning (B) Students are passive learners

(C) Classroom lecture (C) Itdoes not require specially trained

teachers
(D) Both {A) and (C)

(D) Itsaves time and energy and labour
of teacher

188. Speech in which the teacher delivers
191. The book "Mathematical Discovery” was

r n incident or content is T
a lecture on an incident or content is i contib oot

e (A) George Polya

(A) Narration (B) Rudolf Fueter

(B) Discussion (C) G.H. Hardy

(C) lilustration ) FORUERES

(D) Explanation 192. One can describe Environment science
as a permanent investment in creating
a society.

189. An approach to language teaching that (A) Changing
emphasizes interaction as both the (B) Positive

means and the ultimate goal of study (C) Sustainable

is termed as (D) (A)and (C)
(A) Situational language teaching

193. One of the following is not a type of
(B) Comprehensive language

illustration.
teaching (A) Concrete illustration
(C) Communicative language (B) Verbal illustration
teaching (C) Pictorial illustration
(D) None of the above (D) Non verbal illustration
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194.

195.

196.

The role of the parent and teacher is
to be aware of these sensitive periods
and design the environment to give the
child the full opportunity to concentrate
on those things the child is interested
in-children learn from the environment
around them. These were the words of

(A) Friedrich Froebel
(B) Maria Montessori
(C) John Dewey
(D) Rudolf Steiner

takes place when a child
strikes balance between the two
processes while trying to internalise
the perceived object.

(A) Equilibration
(B) Adaptation
(C) Assimilation

(D) Accommodation

Child's thinking begins with the process
of perception and

(A) Feelings
(B) Representation
(C) Problem solving

(D) Thinking

197.

188:

199.

200.
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One of the most powerful movements
in education today is towards '

(A) Co-operative learning
(B) Active learning
(C) lllustration learning

(D) Demonstrative learning

Teaching learning process does not

include one of the following

(A) Increase of curriculum load

(B) Teaching learning materials

(C) Conducive learning environment

(D) Learner and teacher

is one of the traditional
methods of education.

(A) Explanation
(B) Demonstration
(C) MNlustration

(D) None of the above

The stages of interactive teaching is/are
(A) Demonstration

(B) Case study

(C) Note review

(D) All of the above
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IMPORTANT INSTRUCTIONS TO CANDIDATES

vt S e D SET

This booklet containg 48 pages,

Please check all the pages of the Booklet
carefully. In case of any defect, please ask the
Invigilator for replacement of the Booklet,

Directions : Each question or incomplete
statement is followed by four alternative
suggested answers or completions. In each
case, you are required to select the one that
correctly answers the question or completes the
statement and blacken (@) appropriate circle
A, B, C or D by Blue / Black Ball-Point Pen against
the question concerned in the Answer-Sheet.
(For V.H. candidates corresponding circle
will be blackened by the scribe)

Mark your answer by shading the appropriate
circle against each question. The circle should
be shaded completely without leaving any

space. The correct method of shading is given
below.

Wiang Method |[Wrong Method

Wrong Mal’!zi“ﬁ'ﬂrmd Meth
QRO0IOFOOIC® O OO0 O!

The Candidate must mark his/her response
after careful consideration.

16. There is only one correct answer to each
question. You should blacken (@) the circle of
the appropriate column, viz., A, B, C or D. lfyou
blacken (@) more than one circle against any one
question, the answer will be treated as wrong.
If you wish to cancel any answer, you should
completely erase that black mark in the circle in
the Answer-Sheet, and then blacken the circle
of revised response,

A machine will read the coded information in the
OMR Answer-Sheet. In case the information is
incomplete/different from the information given
in the application form, the candidature of such
candidate will be treated as cancelled.

Use the space for rough work given in the Question
Booklet only and not on the Answer-Sheet.

You are NOT required to mark your answers
in this Booklet. All answers must be indicated
in the Answer-Sheet only.
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Go through instructions given in Page No. 1 (Facing Page)
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